Efficiency vs dr

r 1.2
g L
(%]
2 L
> 1I-
[5) L
= L
o
S L
£ 0.8
D L
0.6~
0.4~
0.2
(@] Al
= —=— DQM_CKF_TTbarPU
g 1.05 —e— DQM_mkFit_TTbharPU-noDNN-baseline
—— DQM_mkFit_TTharPU-noDNN-fix
[ i IE m’l "
kil '

0.95 SV
1078 1072 107t

1
TP min AR

[ Efficiency vs dr (track,jet) |
0.5

, Jet

P
o 2
2 0a
»_ O

0.35

©
w

0.25

etticiency vs AR(T

o
[N

0.15
0.1
0.05
Vel

Ratio
N

0.95

-1

1072

=
S
w

1
AR(TP, jét)

Efficiency vs pu

0.5
0.45

0.35

efficiency vs PU
o
D

o
w

0.25
0.2

508

0.05]

1.0

Ratio

80 100 120 140
Pileup

0.95
2

o
N
o
o
o



	Contents
	Page 1


